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cle Question Nos. 1 to 70 have four options, out of which only one is correct.
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rer You have to mark your selected option, on the OMR-Sheet. Answer any
e 35 questions. 35x1 =35
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(A) UAG (B) UGA

& AUG & D) - UAA

Which of the following is not a termination codon ?

(A) UAG (B) UGA
(C) AUG ‘ (D) UAA
FTRO HCAT F AT 7 71 37 B 2

(A)  EIIE IR FRCAC  SFHAT I HT

(C) HRTGT F NG

(D) AT & FYIR
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What is the meaning of charging of £ RNA 7 g

(A) Linking of amino acid with cognate t-RNA

°B

(B) Attachment of RNA with ribosome

QWr‘I_‘

(C) Translation of RNA

(D) Modification of RNA
1 3. fPfufeg 3 @ #1 wEwms A1 R 2

I

(A) T B, R
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Which of the following is a non-infectious disease ?
(A) AIDS (B) Malaria
(C) Cancer D) I'I‘yphoid
4. el 3 & fa w Fife 9 fw. o ue. w8 # 2
&/ ferprarse (B) WS
©) =ifee (D
Which of the fbllowing blood cells) is k‘i‘? as PMNL ? -
(A)  Lymphocyte B Mone et
b . . e Nel;:‘;:;ﬁ . (D)  Platelets
e ST iz et 2

e (A)  gA
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(A) =I=T

What 1s diacety] morphine >

(A) Codcine

(C) Cannabinoid ::l 2:::11-\
= ~ ¢

e A R 9 it 2 >

(A) mErET _—

P = (D) =g
Which fever is confirmed by Widal test 2

(A) Malaria - (B) Typhoid

(C) AIDS (D) Pneumonia
0 S T B A T g S W F A e 3
HH F Foraed, F A Tomel gel areht oft @ 3 e gaww @ 2

(A) st (B) WA

(C) " Frgot e (D) Tt fasiwsht s Ry

In a cross between frue breeding red {lowered and true breeding

white flowered plants of Antirrhinum the F, generation was pink
flowered which is an example of
(A) Dominance

(B) Codominance

(C) Incomplete dominance

Blending of contrasting forms of a character

(D)
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(D) awﬁawanwﬁwﬁi'rﬂw@m?

Which of (he following statementg 1s in
(A)

(B)

Correct ?

Characters are controlled by factors

Factors are discrete
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(A) Agrobacten‘um

(C) Methanobacten'um

(C)
(D) Archaebacreria
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(A)  TTTRH qay RS -

T

(C) HHH &R (D)  wiifRufies
R
At which level is natural
selecti
- Clion operated to evolve the desired
(A) Individual leve] (B)  Population level
€

(C) Community level (D)  Ecosystem level
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L pre ‘live,
When Percentage of individuats of pre-reproductive rep
N postreprodye

L population ig
Pyramiy Of human population, it shows that pop

(A) Expanding (B)  Decreasing
€ Btable (D)  Unstable
! Mﬁﬂﬂ#mrﬂmmﬁ if u#h T g w1 E P
() sewis smparntrs sy e uH wra
B)  wrmmp
() it v e
(D) et v s

Which of the lollowing reproduces once in a lifetime ?

(A)  Pacific salmon fish and bamboo

(B) Mamimals

Birds an marnrmals
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(C) Skl ‘:ﬁln
(D) mﬂi

lantg
Produceg Poisonous cardj
lac

ich of th -
Wwhi e Follow,ng
glycoside ?

(A) Cactus
[B] Calotropi
opis

(C) Coffee plant B
g8, FeAICTEE 3 & B srawress
(A) FIP W e e,
(C) % T Sffamy D) e, sy i g
Which of the following are deCompontrg s
(A)  Fungi and algae (B)  Fungi and virus
(C) Fungi and bacteria (D)  Fungi, bacteria and virus
20, Freferfiad & @ 4 Ao ¥ i (Sresfires) wam 3 foro seerh 4 2 2
oy (A) oERE (B) e e
(€ BT (D) TFHEH (FF)
: Which of the following is not responsible for vegetative propagation
| species
3 of plants ?
| ;- (A)  Offset (B) Bulb
%  Rhiome 0 Sudwr
2732 B 34 A/ XI1-5009-@2/%0) Page 13 / 32




LB

L2
0. M&wﬂ#m-mmm

(X
tmmtdﬁﬂﬁ%w%m'
A 23 frgy
B o ot »

W W&m%mmmg
(;? %ﬁmﬁﬂ;aﬁmwﬁg

i >
] INcorrect
o fi llowing Statements is
I'the 1o

Which
(A)

present on anthen‘diophore of fcma
Anthen'dia are
of Mart'karzt:b

.y



©)

(D) Y s
which of the following ooy divides 1,
angiospermic plant 0 lorm two male AT
na.l e »
ulﬂlj‘“ " (A) Vegetative cel]

(B)

Generative cell
(€) Microspore mother coif iy,

Microspore
t A fpefafead ¥ 8 919 m—nganggwg 5
f (a) TEE HHRE B) i
[ () SiaeEEa St D) Gy = ..
which of the following is not associated with egg appa
(A) Synergid (B) Egg

(€) Antipodal cells D)

R o/ & &9 H INcH (THeeH) F 1 FEw § 2
(@) o ®
© s P e
Scutellum present in the seeds of grass is ¢
~ (A) Endosperm (B)
(C) Seed coat (D)

s
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the use of alpha-1-antitrypsin ?
What I8

(A) In treatment of cmphyscma

(B)  In treatment of asthma

(C)  As insecticidal protein

nucleic acid ?

(A) Transformation

(B) Transfection
(C) PCR

(D) Microprdpagation
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Bacten'oph age
(B) S
(C) ESC'herichiQ colj Rﬁtromg'u.s
(D) Agrobacterium
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k. How rﬁany varieties of Basmat; rice are grown in India ?
H i- (A) 20 B) 15
Bacillus | C) 2 oy 5
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ribosomag] RNA 5

d Or [ rA) RNA pOJymcraBC

(C)  RNA RNA polymerase |
po

(D) RNA Polymerase |11
L5 &0 3 s 1

Some amino acids are coded by more than one codon. Such code is
known as
- (A) unambiguous - (B) degenerate/redundant
(C)  universal (D)  specific
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(B)
(C)
(D)

Codes for permease

Codes for repressor gene
Codes for transacetylase
7. SO e ey T T e 5

@ i R | )




(D)
After how many Monthg of Pregn

ancy, do limbs and digits of
embryo develop ?

(A) 2 months

B) 3 months

(C) 1 month (D) 6 months

mﬁﬁﬁmmﬁmﬁqmm%?
(A) Tl gew

(B) v fig
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Whiqh of the following is not the reason for global warming ?

A) Use of fossil fuels

B) Deforestation

() Population explosion

i e
Improvement in the efficiency of energy us
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€) Staphylococeyg i Cetobacter
Whﬂ GRS E oo Lactobacillus
T ¥ HIS) o
IA] (B] I\‘I - .

© D) B
whiCh b te fOllowing inhibils synthesis of cholesterol ?
(A) Protease (B) Streptokinase

() Penicillin —
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Hisardale js 4 breed of Which of the loligw;,, Is ?
£ animals
(A) Cow (B) BUffaJo
ke (©) She;g < (D) hicker,
: ﬁtni‘-n%a BE =i E TR RRYeft
R gy o, e
@ SR oy B) e
©  dww D) 327 gy
Which of the foHOng te hniqlles was useq to get yellow mosaic
virus resistant mung lenti] »
(A) Mutation bPCEding (B) Introductmn
(C) Hybridisatiop,
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Describe thc structy
re Df micros
PUTangmm
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T PR 2, fewg 2
3 Explain double fertilization.
e denae fagen 5
> ﬁ“mﬁ?wmwﬂ?%mmmﬂ
. ' ﬂﬁl 2
FEfa 2
| Draw the symbols used for male, female, mating and
8 an : :
uudf consanguineous mating in human pedigree analysis.
2
o S AR % @ R 2
ject ?
What are the goals of Human Genome Project :

mmﬁmm%?
inance ?

What incomplete dom L
is P ] 5
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What would be the blood

Rroup of offspring,
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the factors which
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Explain parasitic adaptations,
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120 words.

21.

22;

23.

9 fafear & UEe e R — %
Explain the causes of biodiversity loss.
Fefehaa w aftm fropft ford -

(A) HERRE T

(B) srfee wfewa

Write short notes on the following :

(A) Phosphorus cycle

(B) Primary immunity.

freferfia w afiw feom fod

(A) ISt

(B) Froe 6t TETEtE T

2%x23=95
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B : notes on the following :
-+ o shor
writ€ =

A) Allergy .
; hemical composition of DNA,
(.'\ t‘ &

g;maﬁ#iﬁﬁ‘h‘ﬂiﬁm%zmﬁhm%?

w is gene of interest amplified by using PCR ?

25 ;;ﬁ%ﬂwﬁémé’;

d ) SR T RN SO ¥ e 3 s 8143 > i
(B) I T & 7 WWT B sty 7 2 o

Answer the following questions -

24.

2x2} -«

(A)  Stability of DNA is higher than that of RNA. How ? '
(B)  What are the roles of three parts of transcription unit ?
26. F=fRea w w@fim feoquft R . i
(A)  SFaRIgu
(B) gwa (et

Write brief notes on the following ;

v

(A) Implantation

(B} A UtOga my.
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